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Instructions for candidates :

1.

Each question carries one mark. All questions
are compulsory.

You have been provided with an answer sheet
(OMR) for this question paper. Darken the
correct option of each question in the answer
sheet (OMR) with black/blue pall ben.

Rough work may be done on the blank space
provided for this purpose.

There is no negative marking in this test.

Do not use white fluid on OMR Answer
Sheet.

Half an hour extra should be given to
physically handicapped candidates only.
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Direction : There is a number series following a pattern.
One place is left blank. Find the correct answer from the
given options Questions (1-5).

1) 16,33,65,131, 523

1) 613 2 261

(3) 521 4 262
) 15,17,32,49,81,130,

1 211 2 22

3 179 @) 194
3) 28,33,31,36__,39

1) 40 2 38

3 32 @ 34
4 62,6430,32,14,16,

o 12 2 6

3 18 @4 13
(5) 38,62,74,102,

1) 124 .2 104

3 102 4 120

Direction -In question (6-10) find the odd term/wrong term
or which is different from the rest three terms.

6 (1) 3196 2) 1563
3 2291 4) 2395
(7) (1) DFGE (2) KMNL
3) PRSQ 4 UxXwy
@® @O 2318 2) (18.29).
3) (3921 4 719
® (1) CGIX (2) QIUF
(3) BFUY 4) DKPW
a0 1) 65 2 344
3) 730 4y 101

Direction : In questions (11-13 ) the letters/numbers follow
a definite pattern. Find the missing letter/number to
complete the pattern.

(11) __ bee __ac___aabb__ab__cc
(1) bacab (2) bcaca
(3) aabca - (4 abaca
(12) gfe_ 2g e22 fe2 gof 22
(1) e2fg2 - () 2fg2g
(3) e2g2e 4 2fg2e
(13 00_0_1_0_0_1
(1) 10010 (2) 01011
(3) 01100 4 00111

fgeu—ys (1-5) Fe'a et o fe'a & fodh ameh 3 3
i mryR fe'e fan o3ty &9 ffua o5, yrst gt et Aot
feasydt S ad |

1) 16,33,65,131, 523

(1 613 2) 261

3 521 4 262
2) 15,17,32,49,81,130,

1 211 2 226

3 179 @) 194
3 283331,36__ 39

(1 40 2 38

3 32 @ 34
4  62,64,30,32,14,16, __

1 12 2 6

3) 18 4) 13
(5) 38,62,74,102,

1 124 2 104

3 102 @ 120
fagon-fadhnt gttt 99 feasyt feS f9s feasy <t
= I3 7 gt 35 578 HE &7 ytar 32
6 (1) 31:96 2 1563

3) 2291 4 2395
(7) () DFGE (2 KMNL

(3) PRSQ 4 UXwvV
@ @O (38,18 2 (13829

3 (3921 @ 6719
9 (1) CGIX (2) QIUF

(3) BFUY (4) DKPW
10) (1) 65 2) 344

3) 730 @ 101

fagen-fo3 a@ wiye/mia feq foufos gu dur #ena 35|
&'t gu 3ur § yar 995 BT BUT AT/ AT UIT A-YES
(11-13)

(11) __ beec __ac___aabb___ab_ cc
(1) bacab (2) bcaca
(3) aabca (4) abaca
(12) gfe___2g €22 fe2 gf 22
(1) e2fg2 2 2fg2g
(3) e2g2e 4) 2fgle
(13) 00_0_1_0_0_1
(1) 10010 (2 01011
(3) 01100 @) 00111



2 |

i
Direction : In question (14-16 ) Developing relationship 539" -ym& (14-16) €9 faus = § 48 Yy Tt
among items on the left side of sign :: find relationshipon A {9 F¥U FEUT F9d foms :: B AR UR Tt
the rights side of sign :: by choosing from alternatives. ens* fe's @R 3¢ o idy marfuz 95 Bet feasy dt 5=

ol
(14) 18:48::100: ? !
1) 160 (2) 180 (14) 18:48::100 : ?
3) 120 4 144 (1 160 2 180
3) 120 @ 144
(15) JOB:JOKE::ROB:?
(1) ROBE (2) RODE (15) JOB:JOKE::ROB:?
(3) ROAL 4) ROSE (1) ROBE (2) RODE
(3) ROAL (4) ROSE
(16) Tagore : Poetry :: Picasso : ?
1) Art (2) Literature (16) &3 : afezr :: fuamiv : 2
(3)  Painting (4)  Architecure (1) a8 (2) wfog
(3) Ufear (4) wrgEteITq
Direction -In question (17-23) find the missing term that v
will come in place of question mark. fseew-yus (17-23) i< yas fég @t Aqr st ot feasy
S ST ad |
amn
372 || 580 || 918 | @ [a72|[s80 |[018
235 || 405 || 735 235 (| 405 | | 735
274 | | 350 274 | | 350
NN A AN A,
(1) 366 (2 345 1 366 2) 345
@) 482 @) 432 () 482 @ 432
as) |
2 | 6 18) 2] 6
7 | 108 2 3 7 | 108 ? 3
2|63 |113 |9 263 13|09
8 3 8 3
1) 68 2 36 1) 68 2 36
(3) 54 @ 72 3) 54 4 72
(19) 6 [10] 2 19) 6 |10 2
21 2 2| 2
20| 4 20| 4
12 ] 25| 64 12| 25| 64
O 12 2 8 a1 12 2 8
3 10 @ 6 3) 10 @ 6
(20) (20)
9 |17 | 69 9 |17 | 69
1312 | 62 13 [ 12 | 62
?2 (13| 81 ?2 |13 | 81
@ s @ 9 @ s @ 9
3) 21 @ 10 3) 21 @ 10



@1)
8 1 4]
62 NE dE
4 7 ?
1 8 2 10
3 13 4 6

@1
8 1 4
6|2 4|3 715
4 7 ?
1y 8 2 10
@ 13 @ 6

() @ (89
a1 24 2) 22
3 21 @ 19
(23)
35 43 28 45 15 32
20 11 16 15 40
()] 38 2) 35
(3 28 4 25
(24) If Physics= 106
Then Biology = ?
P 90 2 92
3 82 4 87
(25) IfBlue=160
Then Book = ?
(1) 182 2 162
(3) 43 @ 172

Direction : In question (26-27 ) Find the correct group of
signs to solve the Equation.

(26) 100 * V16 * V225 * 1

1 x=,+ 2) +=5x

(3) +’=’ - (4) T X,=
27) 24*34*2*§5%*1]12

1  +,+,x= 2) =+-+

3) +,+ =X ()

=5+

Direction : in questions (28-31) six children P, Q, R, S, T,
U are playing football. P and T are brothers, U s the sister
of T,R is the only son of P's uncle , Q and S are the
daughters of the only brother of R's father.
(28) Howis RrelatedtoU?

(1)  Brother (2) Cousin

(3) Uncle 4) Son

(©) @79 49
1 24 2 22
3) 21 “4) 19
(23) -
35 43 || 28 5115 32
4 10
20 28|11 16|15 40
1 38 2) 35
3 28 4 25
(24) w9 f’hysics: 10632
3t Biology = ?
1 90 2 92
3 82 : 4 87
(25) a4 Blue=1603<
3t Book = ?
(1 18 @ 162
@ 44 @ 172

fag@m-yEs (26-27) mmmwmﬁ#
T 3T AT BT |

(26) V100 * V16 * V225 * V1
(1 x=,+ ]
' (3) +H= - (4) T %=

(27) 24*34*2*5*12
(1) +,+x%= 2
3) +, 5,3 X @

=%+
=5

fsaen- yu& (28-31 f@g & 99 P,QRS,TU 8295 4F
WIS, P M3 TITTI5, U,Td@rdE 31 RPE T9 e

feadaTy'3g 31 Q M3 S,R @ fead 3 gar St Uit

Gy

(28) ReTUaE AT AT T ?
(1) 99 (2) 9IIT I
(3) o (4) y3g



(29) How many male players are there ?

(1) One (2) Two

(3)  Three (4)  Five
(30) How many female players are there ?

(1)  Four (2) Three

(3 Two 4) One
(31) Howis Qrelatedto P ?

(1)  Sister (2) Uncle

(3) Neice (4) Cousin

(32) If "Red" is called "Green"; "Green" is called
"Yellow'"'; "Yellow" is called ""Violet"; "Violet" is
called "Blue"; "Blue" is called "Orange"; Then
what is the colour of Vegetable Lady finger
(1) Green (2) Blue
(3) Yellow 4) Violet

Directions -Questions (33-66) study the columns and
answer. In column I some words are given and their codes
are given in column I1. The codes in the column II are not
in the same order as the letter of words in column I

(33) Find the code of 'F' Column I Column I
1 p 2y ¢ FLOUR xncap
3 x @) a TAP ksd
ROSE cmrn
(34) Find the code for 'P' LOTUS smepx
a d 2) k SAIL kptm

3 s @ c

(35) Code of 'Last' word

(1)  pkns (2) merx

(3) pkms (4) pkds
(36) What is Code of 'PLASTER' word

()  dpkxcm (2)  dpkmsm

(3)  apxkmd (4) mmxpak

(37) How many 5's are there in the given number
sequence each of which are immediately preseded
by 3 or 4 but are not immediately followed by 8 or

9.
35954553584567357554523510
a1 s 2 4

3 3 @ 2

(38) How many M's occur in the following letter series
which are preceded by 'W' and followed by 'v'
XUVMRSTMWNVMWOPMUVMWA

CWMVHPNVMWMT
1y 3 @ 1
3 2 @ 5

(29)

(30)

(31)

(32)

5 fa8 yow fuzdt as ?

1 fT 2) 2

(3) fas 4) U#

35 f&8 fenelt fusdt 0 7

(1) 99 2) f3=

(3 & (4) fea
QE PsEAETT?

1) 38T (2) T

(3) oI (4) SodtIT

A9 ‘B8’ Ja1 § ‘Tav fagr w2 W’ § wiw faor
e, U F e fagr w2 | ‘Aot § Bl
faor a2, 313’ & At faor a 3t Awst fdst o
Jar fag fror 3=ar ¢

(1) g3 2) s

(3) dsr (4) &aet

foaew -yma (33-66) f<g gusT fonrs &8 y3 w3 €37
fe€ | T | feus maet @ a3 Tev il fe9 o3 o 351
TBH I {9 nyat @ @3 T8 | @ Hget @ »yat nigAg
sHeT sH IF1aT BT & €I9 o6

(33)

34

(35)

(36)

(37)

(38)

Ferdgadtd Columnl  Columnii

M p @ ¢ FLOUR xncap

3 x 4) a TAP ksd
ROSE cmm

Perawatd LOTUS smcpx

(1 d @ k SAIL - kptm

@ s @ c
AYe 'Last' § fa=' 35 fe's foyia |

(1) pkns @  menx

@  pkms 4)  pkds
HYT 'PLASTER' § fa?* d= 9 foyidt |
(1)  dpkxcrn (@)  dpkmsm
(3)  apxkmd (4) - mmxpak

35 fouft wat &t w3t f&w i 5" mifad &S =t 3
Afag 3 faw fe'a i ‘5’ 3 fasg® ufost Aa 3 At 4
wEer 39 YIg W ‘5’ I feaen gmE W@ 8 AT 9
T g |
35954553584567357554523510

(M 5 @ 4

@ 3 4 2

fe'3t aret wiye B 9 'M' w3 &8 rast 3 8
faw &9 »iyg 'M' 3 3l ufost 'W w3 ola goe
f&g 'v mr@er 321
XUVMRSTMWNVMWOPMUVMWACWMVH
PNVMWMT

1n 3 2 1

3 2 @ ;5



(39) Find the word which cannot be formed from the
letters of the word 'INFRASTRUCTURE'.

(1) RESTRAIN (2) FRACTURE
(3) CHARTER (4) NATURE

(40) Find the word which can be formed from the letters
of the word 'ENVIRONMENT'.
(1) ENVY (2) ENTERTAIN
(3) ENTRANCE (4) EMINENT

Direction -Read the information carefully and answer the
questions (41 to 44) -P,T,V.RM,D,K and W are sitting
around a round table. V is second to left of T, T is fourth
to Right of M, D and P are not immediate neighbours of
T. D is the third to the right of P. W is not an immediate
neighbour of P. P is to the immediate left of K .

(41) Who is second to left of K

1 R 2 P

3 M 4 W
(42) Who is to the immediate left of V

1Bn T @ M

3 D @ W
(43) Wheo is third to right of V

a P 2 R

3 K @ T
44) What is P's position with respectto V

(1)  Fourth to the left

(2)  Second to the left

(3)  Fifth to the right

(4)  Third to the right

Direction : Questions (45-46) Four postions of the same
dice have been shown . Select the alternative which
provides correct answer to the question asked.

5 1 3 5
4 6 6 2
3 4 2 1
I II 11 v
(45) Which number would be Opposite to 3
1 6 2 5
3 1 4 4
(46) Which number would be opposite to 5
P 6 @ 4
3 3 4 2

5

(39) &3 a1 guet & €9 waw g& 7 ¥u€ 'INFRA-
STRUCTURE' 3 zJt sarfenr A Aaer |
(1)  RESTRAIN (@  FRACTURE
(3  CHARTER (4)  NATURE

(40) f&3 o muet f9 €9 wye ¥ # Hue
‘ENVIRONMENT ' 3 &at' gafemr A naer |
(1)  ENVY ()  ENTERTAIN
(3)  ENTRANCE (4  EMINENT

fagon-fa'gt It reawt § fonrs 75 ug »3 fE3 o
yEst (41-44)@ €39 fe€1 P,T,V,R,M,D.K»3 W3ls
AT EM3 88 I5IV, TEHRUREA S 3T IT M <
AAURJERTs 331 D3 P, T © fasgs 33 gwiieh
30t T51D, P SRA AR IARES 3 T W, P e fasas
s gmitet 39T 31 P, K @ fas3® u¥ it g 3 ufost
Gl

(41) K @ 4q yi gR Aes 3 de 3|
) R @ P
@ M @ W
(42) Vo FFIYT R a=a |
My T 2 M
@ D 4 W
(43) V@ ARy IAmms3dc s 31
M P @ R
@ K @ T
(44) V @ HiufegPerAus ©F |
(1) YHyYw Jar
(2) YEUREA
(3) AW UR RS
(4) HAHURIH

faaen- yES (45-46) feq 53 fardte somas fe3 ar
51 €U gaei/o1T feasy g€ # Y& a® yEs e €39
=

5 1 3 5
4 6 6 2
3 4 2 1
I II m v
(45) 3@ @82 U faasT Wi I
Mm 6 @ 5
@ 1 @ 4
(46) W 5 & €5 faga wa I
(1 6 @ 4
@ 3 @ 2



(47) In arow of twenty five children Gagan is the 14th

from the right end. Varun is third to the left of
Gagan. What is Varun's position from the left end
of the row.

(1)  Seventh (2) Tenth
(3) Eighth (4)  Nineth

(48) A person is to climb a tree of 50 feet height. In every
second he climbs 5 feet but slips down 4 feet. After how
many seconds he will be able to touch the top of tree?
(1) 50 . (2 46
¥ 49 @4 48

(49)  Anju walks 15 metres toward north, then she turns left
at 90° and walks 30 metres, then tums right at 90° and
walks 25 metres . How far is she from the starting point
and is in which direction
(1) 50 metres, north-west
@) 50 metres, west
(3 55 metres, north-east
(4) 60 metre, noth

(50) Karan wants to go to college which is situated in a
direction oppostie to that of a Mall. He starts from his
house which is in the east and comes at a four way
place (Churaha) . His left side road goes to the Mall and
straight in front is the Bus Stand. In what direction is
the college located ?
(1)  North-East (@  South
(3)  East (4)  North

Direction : In

questions (51-54 ) the

following diagrams
circle stands for
Insurance agents,
the square stands
for hard working , the
triangles stands for
rural people and
rectangle stands for
graduates. Based

Ve

7
9
3

(51) Non-rural and hard working Insurance agents who

upon these diagrams
answer the
questions.

are graduates are indicated by the region
@ 9 @ 5
3 10 @ 7

(47) 25 gfout &t I3 fT9 95 ¥ AR UR F 143t
AEs 31995, 65 ST R AR res 3 J1age
YA YR I G fAsT Aes I I 7
(1) HASES3 (2) ®©AI
(3) wee3 (4) 33

(48) feq feraat 8 50 g2 €9 woyz 3 93T 133
feq Afds feg fonast sgeQuasgerduwgsse
J5t req Ater 31143 Afés e @9 fenadt ey
e Ay § go s ?

(1) 50 @ 4
@ 49 4 48

(49) ng €39 ferr €3 15 Wieg o5t I faa @a 90° @
a3 48 YR yI& 30 Mieg et 31 feg €T 90°
T 3dT 3 AR UR TZ ¥YF At I w3 25 ieT
TBE 317 Sunrud mrifeq fie 3 fdat gat 39
3 ot fewr fee 31
(1) 50T €33-ven
(2) SoMviegueH
(3) 55 ieT €'39-yew
(4) 60Mza €37

(50) TS AW AET Tger I 7 fa wE &t @52 feur
ffonfagd 1IGT S we I IBer IR YyIueB I
»3 §3 3 uguer T |G YR U I AT I
TZ A I w3 monS AT T8 U g7 »ET 31
aew fan ferr <% rfaz 37
(1) €39-uew
(3) yIw

fssdm -yms

(51-54 ) f&3

g 8dz 3

sewger |

TIar Posst

Bat § ean@er

31 fsd=dg

gt § w3

wrfes IRdgee

Tgar g sanger

31 foget @

Wy 3 yEst @

€39 fe€

(51) faos 439 dio-Ug w3 fimsat dhr ee & fa

I8geeH U5, § wawger 3 1
(M 9 @ 5
@ 10 @ 7



(52) Insurance agents who are neither graduates nor
hard working but rural are represented by the

region.
n 12 2 1
3 10 @ 8
(53) Hard working non-graduates rural agents are
represented by the region
1 6 @ 9
3 7 4 12

(54) Non-graduates insurance agents who are not hard

working and who do not belong to rural areas are
represented by the region

(1 6 @ 5

3) 8 @ 11

Direction : In question ( 55-57) which of the following
diagrams correctly represents the relation between given
three items

@o

OO
O

©)]
- (585) Universe, Earth, Europe
(56) Door , Window, House

(57 Radio, T.V., Cinema Hall

Direction - In question (58-59) Arrange the words as they occur
in the dictionary and choose the correct sequence.

(58) () Select ()  Seldom
() Send (V) Seffish
(V) Seller
(N Vv @ LYV
3  LILVV, I @ LIV
59. () Continuation (I)  Contention
()  Contain (IV)  Continuous
(V) Count
1 LIV @  NLVLV
@ vy @ WLV

7
(52) fagsr 439 dir e # &7 3t IRgee 76 W3 &t

st 95 yig Ug 95,  Eawger 3 |
1M 12 @ 1
@ 10 4 8
(53) fagar 439 figadt U'g Bven # adgee sat
5,3 sawgerd |
(1) 6 @ 9
@ 7 @ 12

(54) farg=T 439 ¥ir &en 7 JUgee a4t 98, &1 Tt fiosst
5 w3 &t It U 439 5% WUz 95 § wenfer
ol
(Mm 6 @. 5
@ 8 4 N

fsgew (yEs 55-57) feg dst i3 o fa'set fe'S fauar

fo'ge yus fa f&Ibat arehat f35 swat o wot AdT
sIAger 31

@o

OO
O

€)

(55) gfow, uest, gau
(56) wI=wr , fuzdl, wa
(57) IHG, A=, WEAras

fagen- yas (58-59) &9 99 feasyt fe¥ ga<t myw
&9 fAN 378 H9T WIed! ITHT € HYEAH WA I |

(58) () Select ()  Seldom
()  Send (V) Selfish
(V) Seller
(4} ILVIVL N 2 ILLV,IV,IIl
(3  LIvvIn @ nLvvi
5. () Continuation ()  Contention
()  Contain (Iv)  Continuous
(V) Count
(1) WLV, @ VLY
@) IV @ ULV



Direction -Q (60-61) If > denotes +, < denotes - , + denotes +,
A denotes x, - denotes =, x denotes >, = denotes <. Choose
the correct statement in each of following questions

60. (1) 14>18+9=16+4<1
(2) 3<6A4>25 =8+4>1
B)  12>943<6x 25+5>6
4) 4>3A8<1-642>24

6. (1) TATST+TI=TAT>1
2) 7I<I+I=14
3) I<I+7=6
4 T+7>7=8

62. A father is three times as old as his son. Five years
ago he was four times as old as his son. Find the
present age of the son
(1) 17 years (2) 1S5years
(3) 12years (4) 19years

63. Anice compartment of arefrigerator is 6 Cm wide
and 8 cm deep (long) and 5 cm high. The number
of cubes of ice having an edge of 2 cm will there be

in the compartment
(1) 80 2 30
3) 24 @ 20

64  What is the least number of coins required to make
one rupee from different coins of 1,5,10 and 25 paise
» S0 that you have at least one coin of each type
a 1 2 12
3 7 @ 4

65  If"STATION MASTERS MIND THE TRAIN' =98
Then "SCHOOL MASTERS TRAIN THE

MIND "=?
a1 96 2 8
3 99 ' @ 72

66 At what time between 4 and 5 O'clock will the
minute hand and hour hand of a clock be in opposite
direction
(1) 40 minutes past 4
(2 54 -16—1 minutes past 4

(3) 42 minutes past 5

@) 54 14—1minutes past 5

i

f5990 - : (60-61)F > HIBH + ,< HEBY -, + HIBY +,
A H3BTx ,-H3BH-,X HIBE > |-HIBE< It IS

fafiprt &9 fauar a9 ATt 37

60. (1) 14>18+9=16+4<1

(2) 3<6A4>25=8+4>1
(3)  12>9+3<6x 25+5>6
4) 4>3A8<1-64+2>24

6. (1) TATSTHI=TAT>]
Q) 1>1<1+7=14
(3) T<1+7=6
@) 7+7>7=8

62. feqfuzsrathm y3v et ©e I 3 ger famrer
3 107 A5 ufost @ret g yBa St Ge 3 a9
T famrer wt y'3T @ g o e &t 3R
(1) 1778 (2) 1578
(3) 12°A% (4) 19°A%

63. efdw e 59T B waT 6 A €37, 8 AT gwr
@) w3 5 /AOHit. €9 I 2 A fasd @38 f&3

we fen go8 T3 wa ffg It
(1 8 @ 30
@ 24 @ 20

64 1,5,10,25 UR T W2 we fad i s & fefa gfiomr
g 3t fa we we fe'q gyt o ffar aga 39 |
Mm n @ 12
@ 7 4 4

65 Aad "STATION MASTERS MIND THE TRAIN' =98 3t
“SCHOOL MASTERS TRAIN THE  MIND" = ?
(1) 9 @ 8
@ 99 @ 72

66 urh € fitet T3t gt o3 difent TSt gEt O 3

UF ¥4 @ fegas fan an' fe' gw &t feadut femr
fe'g dzaitmt

(1) 4asvTamesofies

(2) 43#?%54% firea

(3) sesagamwa2fies

(4) 5%#?%54%&2@



—

67

69

70

71

72

73

The minute hand of a clock overtakes the hour hand
at intervals of 65 minutes of the correct time. How
much in a day does the clock gain or lose ?

(1) Lose 10& minutes

143
(@ Gain 101—0- minutes

143
3) Gain 1% minutes

143
(4 tose 119 minutes

143
Any day in April is always on the same day of the
week as the corresponding day in
(1) June (2) December
3) July (4  August

On what dates of August 1980 did Tuesday fall?
(1)  2nd, 9th, 16th , 23rd, 30th

(2)  3rd, 10th, 17th 24th, 31st

(3)  4th, 11th, 18th, 25th

(4)  5th, 12th, 19th, 26th

Teena's income is 25% more than Meena. By what
percent Meena's income is less than Teena

aJan 20 2 18

3 25 4 15

Find Correct conclusion from Statement

Statements: (I) Mohit is an artist
(II) Artists are beautiful

Conclusions

(1)  Mohit is not beautiful.

(2)  All beautiful Persons are artists.

(3)  Mohit is beautiful .

(4)  Beautiful Persons are not artists.

How many triangles
and Parralelograms
are in the given
figure

(1 21,17

2) 19,13

3 19,17

@ 21,15

Select from the four alternatives, the box that can
be formed by folding the sheet as shown in figure.

F

T

(A) (8) © (D)

[« D

(1) Bonly (¥3)
(3) AandConly )]

A only
A,B,CandD

67

68

69

70

71

72

73

wEt € fitet wat get ufont @t get § Sta ' @
65 fite @ W33 3 usra f&e 31 Y9 fes fea w=t
faat mit »idt 7t f&st it fy'@ Aveah

(1) 10%6&2&1%
@ 10-%fefid
(3) 11%&2&%
@ 1140y Frefud

T WS T det § fos oiar ge3 @ QR A fes
R fAaar I5 fou witfent @9 fan wala @
At fes 3 §Rar ¢

1 g5 (2) <fEd

(3) wW®E (4) "EWAI

AW 1980 it faTafnit 3t § NaBTT At ?
1 <,3, 73,3

2) f3=,en, Az, 9, feast

(3) =9, faparat, nizret, uet

"(4) W, at, 931, g

Asr &t IsuT fisT & IsuT T 25% fearrer T
Wizt @t FayT AsT & Fsuw 3 148 yEEs we 3

(M 2 @ 18

@ 25 @ 15

fors 3wt e a e -

fows n Afsffaasasd

) IBIFTASTIS |
fier :
(1) #ogfegadtd
(2) W9 AT feadt a9 IS |

(3) HWfaghead |

4) A9 foradt agaa sat a5 |
fog o fe'ga fee

f&att fader

w3 AtIIegagat

J& .

1 21,17

@ 19,13

@ 19,17

@ 21,15

&3 ar® ov9 feasyt fe@ §< a¢ fan »igwe foSt
et foge (e fie § Sefdaravs S e s ae
A | F

T

S ®) ) © )
(o} D

(1) d<&B (2) dTBA

(3) dATH/AM3C (4) ABCw™M3D



74  Find the Mirror Image of figure.

PLEDGE
?
Prance blrIDCE
(1) @
blrEDCE brIAce

3 @
Direction - In questions (75-77) find the correct alternative
from the Answer figures to complete the question figures

75 Question Figure -
?
Answer Figures
” 1 2 3 4
6 Question Figure
?
Answer Figures
1 2 3 4
77
Question Figure
Answer Figures -
2 B
7] ]
1 2 3 4

Direction - In questions (78-80), The question figure is
embeded in one of the Answer figure. Find the alternative

in which it is embeded.

78

V Question Figure

Answer Figures

10

74 o 9 ue 3 f9'39 93 faor sag a7

PLEDGE i
?
- PrADCE blriDCE
M (F)]
blEDCE briace
3) @)
fsgew-yms (75-77) fe'3 @ w9 @39t f'F et feamy
S IT a3 fan &7 yus fesgyara M |
75 s fage
?
€39 foga
76 1 2 3 4
yms fe'ge
?
SECACEC]
1 2 3 4
77
yrs fase
SECACED

1 2 3 4

fsgew-yus (78-80) f'9 yws fa'zw, €39 foget fed
fai fe'a fe's gfipnr Sfeour § | On feawy &t 3= a3 faw

<5 Qv gfur 3fer 3 |

78 yws fege

CECACES)




A ol

s et 8 e

79 Question Figure

Answer Figures

i[5k

MA

TS

Direction - (Question 81 - 83) Paper is folded as shown with
the dotted lines in 'X' & 'Y' and the last figure 'Z' has been

1

_ cut. How would the paper look like when unfolded.

11
7 Y fa'se

80 e fage

CECACED

SlarE

faaem-(yEs 81-83) fd'3zd X' W3 'Y f&'a fa'It arght
fig uet 55 a8 g § e fapr 3 Ifeg fem § 7 @
wgHa AT famrr 3 | due Sge QuI3 fad faar 33t

81 , Question Figure 81 yas fo'ge
- x ------ Y ''''''' S Z ------ - x 'I.....Y'....- l' ----- Z ------
Answer Figures @“gafa“—:;a
.A R . “A ‘A R & A.A
(N AAA AéA /N 582 AAA AAA AV A
raaian 3 2 1 2 3 4
82 "
82 uestion Figure yus fo'se
ISR NG ISR N
X Yee T .-." '..-a.z..a...u X eee 3 -.-’~ '-.-a.z..g...a
Answer Figures SECACED)
. \/ . \/
A&l i idailreas
1 2 3 4 1 2 3 4
83 Question Figure 8 . - yms fese
ey el & e VeIV 5
&:' F‘).‘ o o/ 1‘;" (‘t. ] O
)é . Y - o.....Z.'.....n ] x‘ ] . e coest -..-..zz ......
Answer Figures CECACED]
Uo < Qoo J ooq J/1Vo Y Qo < OOO 9 ob-q JI Vo ¥V
ol ol P all® of ol 1° ol [P gl o
N q p o0 |n Do D Ca N q |5 9% |n boo D Ca
1 2 3 4 1 2 3 4




Direction - In questions (84-86), which figure among

- Alternatives will replace the question mark according to series.
84 Question Figure
Q1S 1D 1) |
. Answer Figures
1 2 3 4
85 Question Figure
Answer Figures -
86 Question Figure
AJGITIOIAL:
Answer Figures

OO\

4

87  Direction - First rotate the figure by 90°in clockwise
direction and then find out the water Image from

the given Alternatives.
Question Figure @
m‘)‘,"'}"'f""""’"‘
Answer Figures

II-LMj

Direction - In questions (88-90) select the alternative which
satisfy the same condition of placement of dots as shown
in the figure

(88) Question Figure

Answer Figures

SS9

i
|

12 l

fsaen-yms (84-86) fa’asata'yar%aswmm
& wqpt 9 Aot feasu S S ad |

84 yrs fe3e

||

@?ﬁrh—:ﬁr

@ﬂ&a

87 foadw-fe3 32 fo'ge § waht hwt gevut &
gAd YT Quiz e a® feasuyt fed
feo ySiftw et feasu 3¢ |

yrs fa3e
]
.

fogen-fe'3 o w9 feasyt &9 ey feasy A S= a7
fan &' '3 o fo'3T feud fignt 5o feasy v
Bare e T8 fig Aw yie 3 (88-90)

femr
yrat

S8 69




Question Figure

Answer Figures

¥R

90 Question Figure

Answer Figures

Rz

1 2 3 4

&

—y—

Direction - In question (91-93) figure A and B are related
in some Particular Manner. Replace question mark for
figure D, by developing same relationship between C and
D asis between A & B

91 Question Figure
A B c D

| SN
. .i
Answer Figures
LS I ¢
1 2 3 a
92 Question Figure
A B C D
=l ) F —<[
> : <ol 1=

Answer Figures
- o -0 .. [

S D) B BAD)

1 2 3 4

13

89

@@@@

90

1 2 3 4

ﬁva@z—m(91—93)ﬁ%fa%ah@§faﬁméarm
AUz 95 | 9 &t mlg § 939 C 3 D f&'s narfug q@d
fo'ge D fe'e fo3 yus 9% ot nat feasy St 9= a9 |

N yrs fo'aq
A B (o] D
e ' }
CECACES]
0’\: ~—=O 0
l< ] N
2 3 4
92 .
Wh?Aa B . C D
e 1 =N -G
SR N
1 e, |
CECACES]
<l My MY
1 2 3 s



93 Question Figure

A_ B cC . D

BRI

@) - |

Answer_ Figure§
\ ; @ \/@ vv
1 2 3 4

Direction -In question (94-95) out of four figures, one figure
is different , while the others are similar in some way .
Find out the different figure.

S | S | A A
s | NN | | AR
1 2 3 4

@B 1 2 2
3 3 4 4
95) .
. L |
T 3g‘p| .
1
. )
1 2 3 4
@ 1 2 2
3 3 @ 4

Direction - In question (96-97) Five diagrams A,B,C,D,E
are given. Three out of these when put together make a
square. Find the alternative which one has three such

diagrams.

96)

~0 0 o 8 oA

(1) ABD
3) B,D.E

2
)

ACD
B,C.E

14

=

SET

Gl
1 2 3 4

f530m - fo'2 a1® yus (94-95) ' o7 fo'gat fed s

fa'gq fan s fai 3§t »run fET AT w2 95, (g
3 1f3% f9°39 =t ot feasu @t S ad |

fea fés

94 ~Y Y'Y ——
A | A |~~~ [~
e | A | i
1 5 3 4
@ 1 @ 2
3 3 @ 4
?
95 i
"1 ob| W |
d b .
}
1 2 3 4
o 1 @ 2
@ 3 @ 4

fagew-yEs (96-97) f€@ U 6’39 A, B, C, D, E fo°3 ar®
75 | fegt oS det f3s fo'ge A fo'ad adl® 3t fe'q <aar
ge Ater 3 | fow miut Aot feasy St S aq |

96

el l'{;] [
A B [+ : D E
() ABD (@ ACD
(3 BDE (4 BCE



97
A . B [o] D 3
(1 ABD  B,CD
3) A,B,C ) C,D,E

Direction- In questions( 98-99) if two figures among five figures
are interchanged then five figures arranged in certain order .
Find among alternatives.

98
O 0|0 p C
1 2 3 4 5
M 13 @ 23
@ 12 @ 24
99

(100) How many squares are in given figure.

(1 3 @ 48
@ 78 @ 70

15

97

PN Sl AP

(1) ABD @ B,CD

3 ABC 4) C,D,E

fsaew-ymEs (98-99) feT U fa'gqt fed" Aaw € fase
wyr feg ges o3 we St In feso fea st fee ©
Aed | At feasy 9 |

98

O D

99

-

(1) 45 @ 1,2
@ 23 4 34

100 f&'3 @ fo'ge fETfdd Taaras ?

(1) 3 @ 48
@ 78 4 70



101.

102

103

104

105

106

16

A small source of light casts a sharp shadow on an 101
opaque object shows

1. Ray Nature of Light

2. Wave Nature of Light

3. Particle Nature of Light

4 Duel Nature of Light

In Domestic Electric Circuits appliances are 102
always connected in

1. Series

2. Parallel

3. Mixed

4 Bulbs in Series and Fans in Parallel

A force of 40 N acts on a body , and body moves 103

through a distance of 2 metre at an angle of 45°in
the direction of the force . The work done by the
force is

1. 40N2J

2. 20N2]

3. 80W2J

4. 40N2) 104

3

Velocity (ms™)
8 8 8§

-
(-]

1

0 5 10 15 20 25 30
Time (s)

In the above graph what is the value of
Acceleration?

1. 360 ms 2.
3. 0.9 ms? 4.

180 ms2
1.8 ms?

A Person cannot see the object beyond 50 cm, The
power of lens to correct this defect will be

1. +2D 2. -2D

3. +5D ’ 4. +05D

105

If the frequency of wave is trippled , then |ts wave

langth? 106
1. Becomes Double

2. Becomes Half

3. Becomes One third of original

4, Remains same.

yaHe fEqa 8 iz 8 TRF Tt erfenr
geger wan@erd | |

1. yaw el faes y=ast

2. YaH & 39T y<aSt

3 yay o g€ YISt

4. YW < I8t y=ISt

w3g fansel Aaaet f&'e Quade anET A3 AR 05

989 BIed W3 UY A3

feg eng 3 40 {5825 98 eng § 2 ieg @ gat mi3
45°ﬁ3§maf€mﬁ?mﬁ?%|ma‘8‘
A fapr w3 :

1. 40N2TT
2. 20/«1238
3. 8oMN2E®
4.  40V2 &
60 I
1
50
@
3
230
‘©
S 20
2
10 -
ft
0 5 10 15 20 25 30
Time (s)
Quigs e feofig AFEST Rarerysd?
1. 360 ms? 2. 180 ms?
3. 09ms? 4. 1.8ms?

fe'q fomaat 50 idhiies 3 Sugft Iyt ang §
&91 3 Aaer , fen gan § g9 J@s sE B €
marsh it 32t ¢

1. +2D 2.
3. +5D 4.

2D
+0.5D

Hg9 far 3dar &t mieat f3s gerae ot A 3t
fer 3dar &t duet ?

1. €SI A=<l

2. wut g ATt

3. A o feq faaret 7 adait

4 JE gEs &t =T |



107

108

109.

110.

111

112

113

A positively charged particle (alpha particle)
projected towards west is deflected towards north
by magnetic field. The direction of magnetic field
is

1. Downwards 2.
3. Towards East 4.

- Towards South
Upwards

If distance between Earth and Moon is increased
by Six time, then force of grativation between both
Wi“ 00000

1 Increased 1/36 times
2 Decrease 1/36 times
3. Increase 36 times
4 Decrease 6 times

A bullet of mass 20g is horizontly fired with velocity

‘of 150 ms' from pistol of mass 2 kg. What is the

recoil velocity of the Pistol.
1. -1.5ms™! 2. +1.5ms’!
3. -3.0ms’! 4. Oms”

A object is placed 5 cm in front of Convex mirror,
whose radius of curvature is 3cm. Find the Position
and Nature of Image.

1. +1.15 cm , Real and Erect.

2 +1.15 cm, Virtual and inverted

3. +1.15cm, Virtual and Erect

4 - 1.15 cm, Virtual and Erect .

A current of 0.5 A is drawn by a filament of and
electric bulb for 10 minutes . find the no of electrons
flows through the circuit are

1. 6 X10 '® Electrons

2. 18 X10 '® Electrons

3. 6 X10 ® Electrons

4 18 X10® Electrons

Which of following cannot hear ultrasound waves?
1. Bats 2. Human
3. Dolphins 4. Dogs

Refractives Indexes (indices) of Water =1.33,
Kerosene=1.44 , Ruby=1.71 & Diamond =2.42 are
respectively , in which of these velocity of light is
minimum ?

1. water
2. Kerosene
3. Ruby
4 Diamond

17

107

108

109

110.

111.

112

113.

u'sH T yaifyz d¢t us gvafag ae (Ase-a<)
fai gaat 439 gorar §°39 four @ fadfuz I ater

.3, guat d39 < fewr &t 32t ¢
1. dJ'TH 2. TYSTE
3. WETE 4. €CweTw

99 qa3t »3 deanr fegaast gat 6 ger =

feftae stSwt feoggar ™ ...
1. 1/36 JST W A<Ar |
2. 1/36 ST WE A=A

3. 36 JIST U AT

4. 6TSTTWSHRIT

Aag fe'q 20 @y & dieh 2 faB areny & dga ot
150 ms"' A FTIT 5T fufsaeg ozt IR 3t

g &t y=ft g9 ot It |
1. -1.5ms’ 2. +1.5ms?
3. -30ms’ 4. Oms'

fe'q eng €35 voue fanret <ae e feurw 3 A&
Wizg 3 , @ »idr 3t o 31 ySifde <t nfast w3

YISt It ...

1. +1.15°4., en3fex 3 fAar
2. +115ANH., "W 3 €3
3.  +1LI5HNM., M3 3 fiar
4 -1.15 A M., miat 3 fATr

fan favoet ¥39 @ Je f&F 0.5A & ade 10 fire
et Y=oz aiar famr, meae fe's Y=o 3@

fe8acarat <t faretuzrad |
1 6x 10" fedqeas
2. 18x10"® feBaeas
3. 6x10? fedaeas
4 18 x102 fedaeas

35 fefipnt feF faga dle wweam Qs 3dart
SdT T AAET ?

1. oWaregt 2. M3y

3. 3sfes 4. I

Yt -1.33, IS -1.44, gdlt=1.71 w3 der -2.42
¥ PRTT WUTIIS AT 35| fegst feS faw e

YEH @t 98 Ag Tz I 7
1.yt

2. dds

3. gdt

4. dler
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11S.

116

117

118

119

Among Mg, Mg*, Al , AI** which will have the
largest and smallest size mpechvely

l Mg2+

2. Al¥, Mg
3. Mg Al*
4. Al, Mg*

Which of the following statements about the modern

penodlc Table is /are incorrect
The elements in the Modern periodic table are
arranged on the basis of their decreasing atomic
number.

2. The elements in the Modern periodic table are

arranged on the basis of increasing atomic °

masses.

3. Isotopes are arranged in adjoining or different
groups in the Modern periodic table.

4. The elements in the Modern periodic table are
arranged on the basis of their increasing atomic

number.
1. 1 only 2. 1,2and 3
3. 1,2and 4 4, 4 only

In Alumino-Thermite process aluminium is used as
1. Oxidising agent 2, Ore
3. Reducting agent 4, Catalyst

The greater number of water molecule will be in
1. 18 gmto HO

2 18 moles of water

3. 18 molecules of water

4 1.8 gram of water

Consider the following equation of chemical
reaction of a metal M

4M+30, - 2M,0,

The equation represents :-

1. Combination reaction as well as oxidation
reaction

2. Combination reaction as well as reduction

3. Decompostion reaction as well as oxidation

4. Oxidation reaction as well as displacement
reacton

Identify the correct oxidant and reductant in the
following reaction

PbS + 4H,0, - PbSO, + 4H,0
PbS - Oxidant
H,0, - Reductant
PbS - Reductant
PbSO, - Oxidant
PbS - Reductant
H,0, - Oxidant
H0, - Oxidant

H,0 - Reductant

18
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115

116

Mg, Mg, Al , Al» hﬁ‘wf*wmwé‘

w»l@fanermnaé'ézté?
1. Mg A
2. A* Mg
3. Mg,AI*
4. AL Mg

35 fau qust &9 »rufaa »readt aast zet

fagar /a3 mat 53t 3795

1. wufss wreest Aaet fdfa I3t § @5t @
W YIH'E WAt MEHY JHET S13T AieT T

2. wufed meedt Aget i I3t § @5t @
TUR YIH'E UA »gH™S qHET 137 famr J1 -

3. wgfsa »reast Aeet fev wretreut
(AH-FETaat) & &8 B {7 MBI MBS ar

gyt fE Tfon farrr &)
4. wufed mregst Reet fde I3t § G ©
TR YIH' Wit MFATS JHEY 13T fapar I
1. d®1 2. 12733
3. 12734 4. dAT®4

WSS gaWrEle (Alumino Thermite) yfafenr fee
nefishnr &t 73 fam =7 F 31 :

1. wartees 2. ladtos

3.  Buded 4. ‘G
117 Y2t e AT I TUANE J=H

1. 18I@Hyelfes

2. 18HBUSfee

3. 18 mEuetfew

4. 18IEHYSfeT

118

119

I o't aret awrfesa mitaee fiw 3§t <t fafonrr
Tonget 3
4M+30, - 2M,0,
M feg T3 3 -
1. AGW& 3 nrawtas fafomr
Havs 3 swaes e fafonr

2.
3. uyweE 3 orataas fafanr
4.

wraAtads 3 ferarus fafonr

"It wraHiaTId 3 BWadw €1 35 fadt milaee fee
ufgore &9

PbS + 4H,0, - PbSO, + 4H,0

PbS - waHia
H,0, ° Byarex

PbS - L1 C AT S
PbSO, - WA
PbS - 2 C o
H,0, - UG
H,0, - LCLICICC
H,0 - B
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121

122

123.

124,

125

126

127

128

129

Silver articles become black on prolonged exposure
to air. This is due to the formation of

1. AgN 2. Ag0O

3. AgS 4. AgS and Ag,N
How many moles of NaOH are present in 160g of NaOh
1. 4 mole 2. 2 mole

3. 1 mole 4. 3 mole

When a vegetative oil is treated with Hydrogen in
the presence of Nickel catalyst it forms fat
(Vegetable Ghee) This is an example of

1. Displacement reaction

2, Decompostion reaction

3. Addition Reaction

4 Double displacement reaction

This electronic configuration 2,8,6 represents
element

1. Calcium 2.
3. Oxygen 4.

Sulphur
Magnesium

The Soap molecule has a

1. Hydrophobic head and Hydrophobic tail
2 Hydrophobic head and Hydrophilic tail
3. Hydrophilic head and Hydrophilic tail

4 Hydrophilic head and Hydrophobic tail

pH is defined as

1.  -Log[H0"

2. -Log[H,0]

3.  +Log[H')[OH]
4 - Log [H'] [OH]

Which gas boils out first during fractional
distillation of air.

1. Argon 2. Nitrogen

3. Oxygen 4, Carbondioxide
Which of the following is a plant harmone

1. Insulin 2. Thyroxine

3. Estrogen 4. Cytokinin

The shape of guard cells changes due to change in the
1. Protein composition of cells

2 Temperature of cells

3. Amount of water in cells

4 Position of nucleus in the cells

Which of the following is a true statement

1. Ovary releases three eggs in every month

2. The eggs are produced in the uterus

3. If the egg is not fertilized , it lives for about one
day

4. The fertilization takes place in the ovaries

19
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122

123

124

125

126

127.

128.

129.

gtet It TR 38 A ST Jer feg afas 3 aatut
T At 35 1 mifear faw difare @ w25 aas Jer 3|

1. AgN 2. Ag0

3. AgS 4. AgSMIAgN
160g NaOH f<'9 f&3 H& NaOH J=<t

1. 4¥H® (mole) 2. 2% (mole)

3. 1 HE (mole) 4 34T (mole)

gAY 35t (Vegetative Oil) & aetzans a5 fsas
@@t Qurfast fee faforr 575 fwQ geer 3
feg faw 37t <t awfefea fafonr € Gergee 31

1. femawus fafamr

2. e fafemrr

3. #A=aud fafenr

4. gudt feraus fafen

g,s,sfeiazra‘rsaaw 35 fed fan S35 iUz

!

1 s 2. HST

3 HaRAS 4. VST

fearges @ g e derd?

1 75 fedat fagr w3 7% fedut ue

2 7% fedut fagr w3 A% AETt us

3. #8 A&d fAar M3 AR us

4 ABAAT figr M3 A% feaut us

pHE eanfenr Ater 3

1.  -Log[H0]

2. -Log[H,0]

3.  +Log[H'1[OH]

4. -Log[H'][OH]
%Wmmﬁaﬁa‘mwé‘w

Qm&mja’r&n
WIS 2. IS

3. WIAHHAS 4. F99E STOAAAES

35 fefint &9 fagar Jer i 3 :

1. fegfes 2) weTains

(3) €HeIns (4) wElcaTfefas

FIFTRETE ... 95 937 gEsEl I

(1) {Eseaas

(2) AT IS TIS

(3) U HIT ATS

(4) ﬁ‘s*fe’v&'eajnfas’rm

s fefimt {9 fagar aus At 3

(1) W33 IT WS f3= 3 S| qger T

(2) w9uslfegrzaserII

(3) wF feq fos it fMea 3fder 3 7 Ener foir
& s Jer

(4) foheswsanfegderdi



130. The tissues that helps in the movement of body are

131.

132,

133.

134

135

136

137

(1) Muscular tissues

(2)  Skeletal tissues

(3) Connective tissues

(4)  Conducting tissues.

Match the terms in column (A) with those in column
(B)

Column A Column B

(1) Trypsin " (a) Pancreas

(2) Amylase (b) Liver

(3)  Bile Juice (©)  Gastric glands
(4) Pepsin (d) saliva

1) (@a @)d @) b (v) c

2) @b (i)c @) d @{v) a

B) @Wa Gi)b @Gi) ¢ Gv) d

@ (@b ()c (i) a @Gv) d

Adenosine triphosphate (ATP) produces during
in living organisms and also during
in plants
1. Photosynthesis , Absorption
2. Respiration, Nutrition
3. Photosynthesis, Respiration
4. Respiration , Photosynthesis

Muscles contain special protein called ___
1. Contractile Proteins

2. Vacuole Proteins

3. Globular Protein

4. Vesical Protein

Which of the following groups have naked embryos
1. Bryophytes and Pteridophytes

2. Bryophytes and Gymnosperms

3. Angiosperms and Pteridophytes

4. Pteridophytes and Angiosperms

‘Which of the following cellular component of blood

containing haemoglobin

(1)  Redblood Celt (2)  White blood Cell
(3) Plasma (4) Cytoplasm
Recessive characters will appear in

1. F, generations

2. F, generations

3. both F, and F,

4 F, only

Which of the following statements is correct

i. Prokaryotic cells have a well defined nucleus

2. Eukaryotic cells have no Mitochondira

3. Prokaryotic cells having Mitochondira

4. Eukaryotic cells having membrane bound
organelles

20

130 @ﬁgmammwmg@m

131

132

134

(1)

(2) fiwefen
(3) w=afew
(4) =fostfey
Column (A) »3 Column (B) a*fuﬁra%
Column A Column B
1y feufrs @ 3
@ EEE b) frew
@ fugtam € Jnfex debut
@ ufrs d B9
(1) (@a (i)d (i) b (v)c
2 )b (i)e (i) d (v) a
@ (a (b (i) c (v)d
@ ()b (e (i) a (v)d
wEEAEts TEtewee ( €.t A=t fe
= deslerderd3dfenrtfede _
1.  ya'® ARSRHE , 7HY ( Absomption)
2. AW fafenr , ias
3.  yd'H ARBES , AT fafedr
4. w9 fafenr , yaw iRdaeE
133. Avg et f&9 w39t &t {&s et 31
1. fgfesyds
2. dAeERtydAE
3. JIBgsd Y5
4. Sfas §@s
J5 fefiont myat &9 faw f&'s Qo gg= ’ (Naked
Embryos) Jevd ?
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137.

1. wfeGerdien w3 ddisefeen
2. gfeGedien M3 fAaRudiT
3.  WFCRUIHE w3 dSTERR
4. ASTEEH M3 AHGHUIHT
Iz fefnt fEF ya © fagud figse o fe'v

Ae¥ §a3E
3 UBTHHT 4 ArEteusTEe
gt e feuret f&Q o
1. F, usgtfes
2. F,uiftfem
3. &= F, w3F, utgnt iE
a. s, uEtfey
35 fafpnt feF fagar aus At ¥ 7
1. {adigew Ant feg avwsxa der 3
2. vadiged st fée wetdasdnr adt Jer 31
3. Yadi@ed @t fET weledsdnr 9€ 351
4. wadiSea Awt f<T weq feEh gnmar fud 92

foa2 v 52 951
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Pineal gland is located

(1)  On the kidney (2) Inthe Brain

(3)  Near Thyroid (4)  InPancreas
Which of the following is body's largest blood vessel
(1) Aorta (2)  Pulmonary Vein
(3) Capillaries (4)  Heart

Which of the following is not a raw material for
photosynthesis

(1)  Carbon dioxide (2) Water

(3) Oxygen (49)  Chlorophyl

The pair of equations

X=0 and x= - % has ......

1. One Solution

2. Two solutions

3. Infinitely many solutions

4, No solution

If a point (a,b) is equidistant from points (x+y ,y-x)
and (x-y, x+y) then which of the following is true ?
1 ay= bx 2. ax=by

3. atb=x+y 4. a?y=b’x

For going to a city B from city A, there is a route via
city C such that ACLCB. AC=2x km and CB=2 (x+7)
km.it is proposed to construct a 26km highway which
directly connects the two cities A and B . Find how
much distance will be saved in reaching city B from
city A after the construction of the highway.

1. Skm 2. 6 km

3. 8 km 4. 13 km

In quadrilateral ABCD , ZB= 90°, ZC-£D=60° and
ZA - ZC - ZD=10°. Find the measure of the smallest

angle of this quadrilateral
1 35° 2. 25°
3. 50° 4, 55°

Find a natural number whose square diminished
by 84 is equal to thrice of 8 more than the given
number :
1) -3 2) 12
3) 6 4 9.

Find the common difference of an AP whose first
term is 1 and the sum of the first four terms is one
third of the sum of the next four terms.

n 2 2) 4
3) 15 4 2

The mean weight of students of a particular class
is 52 kg . The mean weight of boys of this class is 56
kg and that of girls is 50 kg. Find the ratio of
number of boys to the number of girls in the class.

1) 1:2 2) 2:1

3) 1:1 4 2:3
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yeEs 8T Afag 3 --
1. 3eed 2. fowerfes
3. gfegfesedx 4. 3urfew

gsfsﬁ»ﬁfa“ﬁ‘manaé‘a‘sﬁagwm
1. HIOHSt 2. S"F oSt
3. afgaret 4. fem

35 fafimt S faua yam Amdne fafonr et
FTIHS &I 9

(1) SIgESEHARATET  (2) Ut

(3) WaANS (4) aBsfes
MiFISt AT X=0 M3 x= - % T ........ T

1) feads

2) ©IS

3) wEfaE3 TH

4) I TH &I

Aqe fig (a, b) fignt (x+y y-x) w3 (xy, x+y) ?
H9759 gt 3 92 3t Io feitut €9 fagar et @
1 ay=bx 2. ax=by

3. ath=x#y 4, a?y=b’*x

fe'a afag A3 gw #igg B I are Tranar wfge ¢ 3°
F&aerd M3 ACLCB T 1 AC=2x fa:it: 3 »3 CB=2
(x+7) faait: 31 wfog A w3 mfgg B & AT Axs et
fe'x 26 fadiea 38 Wraar gerfenr Arar J1U3T
A3 fa I W9ar 95 3 e "Afoag B I Afgg AT

e Bt fdat gat we 3w qaat uait?
1)  5fat. 2) 6faxt
3) 8 fat. 4) 13 faxt

93937 ABCD &9 /B= 90°, ZC-2D=60° »3 ZA -
£C-2£D=10°3 |fenugaga eRg T eddT ey
yIrae |

1 35° 2. 25

3. 500 4, 55°
- QU yfgza Afiprr yzr g3 fAne =aar &9 84
W€ 3 Y3 fftpnr fE'St arel Afyn fS9 8 AT
? fer € fage @ gora9 I

1) -3 2) 12

3) 6 4) 9

€W AP T FigT W33 yIraq fawer ufosT ye 1 3 W3
fame yfg8 919 yet T i3eE fone »e® 99 yet
@ Ages T feafaodt d

1) 2 2) 4

3) 15 4) -2

fait v AT @ fefeniadt e Wing 979 52Kg J1
few g T s3fant T MAZ 39 56 Kg & »3
Bt T wiRg 379 50 Kg 31 few a@w fee
sttt w3 FFAMt €t fare 3t e U3 U™ a9 |
1) 12 2) 21
3 11 4) 23
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Infigure PQI|BC. AP:PB = A 148
4 : 3. Find the ratio of areas
of ABOC and APOQ
1) 16:9
2) 4:3 N
3) 49:16 %)
4) 16:49
B c
In AABC,ZC=90"andtan A =1 149.
Find the value of 2SinA Cos A
V2 2) %
3) 1 4 1N2
Consider the following statements when two 150
straight lines intersect :
i) Adjacent angles are complementry.
ii)  Adjacent angles are supplementry.
iii)  Vertically opposite angles are equal.
iv)  Vertically opposite angles are supplementry.
1. (i) and (iii) are correct
2. (ii) and (iii) are correct
3. (i) and (iv) are correct
4. (ii) and (iv) are correct .
3.27is 151.
1)  aninteger
2) a rational number
3) a natural number
4) an irrational number
The sum of all odd natural numbers between 0 to 152
40 is
1) 1600 2) 420
3) 400 4) 210
The empirical relation between mean, mode and 153
median is
1) mode = 3median - 2mean
2) mode = 2median- 3mean
3) median = 3mode - 2mean
4) mean = 3median - 2mode
If the perimeter of a circle is equal to that of a 154
square, then find the ratio of their areas.
1) 14:9 2) 13:11
3) 13:9 4) 14:11
Find the number whose square root is twice of its 155
cube root. :
1) 64 2) 128
3) 16 4 4 -
Fill in the blank 156.
49,343,64, ,81,729 .
1) 1024 2) 512
3) 778 4) 182

f&2 ar@ fo'ge f="3 PQII BC S
JI1AP:PB=4:33 3t ABOC
w3 A POQ @ ¥3gestEr

MFUTS UIT 31 , Q

1) 169 :

2 43 » (0)

3 49116

4) 16149 £ .

fggw@ AABC,fe9£C=90° %3 tanA=13 3+ 2SinA
CosATT B UIT AT |

1) V2 2 %

3 1 4  1N2

35 fod qust 3 fegrg a1 A € Y=t nryw fee
ot T .

(i) SBIRLITYIITIZI

(i) BURITAYITIIVIF I

(iii) YT ASYY < I I TF |

(iv) faue rayy d= fyga R 35 |

1) (i) M3 (ii) At I&

2) (ii) ™3 (iii) At 95

3) (i) M3 (iv) Rat 05

4) (i) M3 (iv) A9t a5

3!

327 o

1)  AYIs Ao {

2)  ufons #fpnr ,

3) Tﬁ'{?&ﬁfwﬁ" ;

4)  wufore Afemr !
it 0 3 40 @ fegara Afag Adbat et Yrigagar
Aforetardg ...l 31 .

1) 1600 2) 420

3) 400 4) 210

fast aadt A : HOW'S, 598 a M Hgar

feo fovafays @9 faoa At T8O 3 ¢
1) 9939 = 3 Hfgar-2 Wy
2)  u9gBI-2 Hfgar-3 o
3) Hfgar- 3 598 -2 HOW's
4)  HuWs -3 Hfgar -2 goBa

Aqg fea gag erufory fe'g Faar S ufmy @ s
J= 3t feust @ 43Test fegsT msU I UIT a9 |

1) 14:9 2) 13:11

3 139 4 1411

wivdt A yzT 33 fareT T@ays GRS weys
53 gareT I

1) 64 2) 128
3 16 4 4
st gt 33 |

49,343,64, ,81,729

1) 1024 2) 512
3 778 4 182
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In an examination a student scores 4 marks for each
correct answer and loses 1 mark for each wrong
answer. If he attempts total 60 questions and secures
130 marks. Find the number of questions he
attempted correct .

1) 35 ' 2) 38

3) 40 4 42

A number consists of two digits . The sum of both
digits is 11. If 27 added to the number then digits
inter change their places . Find the number.

1) 47 2) 65

3) 83 4) 92

If V2048 =V2* , V2187 =V3' and V3125 =5 then the

value of x+y-z=

1) 1 2) 9

3) 13 4) 23

Find the value of y in terms of x

3x+4y-3 - -3x+4Y-7

7 9
1 -24x-11 2) -11x-24
4 4

3) -4x-11 4) -24x-4

24 11

Who was the first Viceroy of India ?

(1) Robert Clive

(2) Lord Willam Bentick
(3) Warren Hastings

(4)  Charles John Canning

By which name was Punjab known in Ramayan and
Mahabharat ?

(1) Panchnad (2)  Sapat Sindhu
(3)  Panta Potamia (4)  Lahore Suba
In which year was Guru Teg Bahadur Ji born ?
(1) 1605 2) 1628

(3) 1656 @ 1621

To whom did Guru Har Rai Ji sent Delhi when he
was called by Mughal Emperor Aurangzeb?

(1)  Prithvi Chand (2) RamRai

(3) Dhirmal (4) Harkrishan ji

Who is credited for demanding Swaraj from the
Congress platform for the first time-

(1)  Surinder Nath Banerjee

()  Gopal Krishan Gokhale

(3)  Dadabhai Naroji

(4)  V.D.Savarkar
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. feq yifimr fe'e fe'a fefenrast 3 mat €39 wet 4

wa W8 w3 B €39 BEt 1 W afenr faprr |
EHE 60 YIS T8 qaQ 130 W YUI d13 3t GRS

fad ygs rAt TE A3 ?
1) 3 2) 38
3 40 4 A

T it 3T fAfeerr @ vt eT AT 11 3 19T Afenr
fe'g 27 A= fe'sr A 3t Wid miyeT AETs 5o 8T

' 35| Afemr erugT &3

1) 47 2 65
3 83 4 9

AGT V2048 =V2* , V2187 = V3 m3 V3125 =5* I
3t X4yZzE B UST AT

) 1 2 9

3 13 4y 23

Jsfe3miigas fea Y evus x sw e gufee
3T 9

3x+4y-3 -3x+4Y-7
7 9
D -24x-11 2)  -11x-24
4 4
3) -4x-11 4)  -24x4
24 11
93 @ yfad Trfena® d= At -
(1) dJ=de IBET
2) w93 feshmy §fea
(3) <I& IAfear
(4) 9IBA AS Af&ar
Ifes M3 Hatges fee imma § fan st 57 wfen
- {ieTH -
(1) Ueae @ w3fig
(3) Uerienipwr 4) wIggEr
g 391 FUTeT Fl ©F ASH ae Ifenr -
(1) 1605 €t (2) 1628 &
(3) 1656 €. (4) 1621°%t
YIS TTEETY WIIaY gvaT Jg dfe afe 7t § fe'st
ge@e 3 gy wfow & fan § 8t 3fimr -
1) ﬂ{&?’fi’li’ (2) IvaTfe
(8) UIHS (4) ofsfqms wt
yfgst <9 RN @ 1T 3 AL € War q9s ©F
frger fam & fe'srwier 3 -
(1) nféed a8 §&adt
2 Ius fqus Ius
(3) wrerITEl &9 Hl
(4) FtA<gag
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Which Guru Sahib started the Manji System?
(1)  GuruAmardas ji

(@  GuruAngad Devji

(3  Guru Ram Dasji

(4)  GuruArun Dev ji

Which of the following cities was the capital during
Banda Singh Bahadur's Rule ?

(1)  Khanna (@  Sirhind
(3}  Lohgarh (4)  Kethal
When was the 'Gadar Party ' formed?

(1) 1914 @ 1913
(3 1920 4 1929

During the middle of 19th Century ltaly was divided into
how many states and which one was ruled by the ltalian
Princely house-

(1) 7, Sardinia-Piedmont

(@) 6, Sardinia- Piedmont

(3 5, Florence

(4) 6, Habsburg

In France the female allegory was named as
(1)  Germania (@ Maria
(3  Alice (4)  Marianne

A liberal colonial officer who formulated new rules to
restore the freedom of the Press in India was-

(1)  Warren Hastings

()  Thomas Macaulay

(3)  William Bentick

(4)  Robert Clive.

Which one of the following countries is not a member
of South Asian Association for Regional Co-operation
(SAARC) -

(1)  Bhutan @
(3)  Nepal @)

India
China

By what name the coastal plains from Daman to Goa are
knwon as ?

(1) Malabar Coast

(2)  Konkan Coastal plains

(3)  Eastem Coastal plains

(4)  Northern coastal plains

Which one of the following districts is the smallest in
area?

(1) Ludhiana ()]
(3)  Gurdaspur 4

Bathinda
Pathankot

Which one of the following regions normally experience
the convectional type of rainfall ?
(1)  Equatorial region 2
(3  North Polar Region  (4)

South Polar Region
Glaciated region
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W+t yar €t ggn3 faw gg wkow & &St
(1) IIFMEERHAS

(2) g WIS H

(3) TG IHEH Ht

(4) TIwEAs ST H I

dor fiw oo & faw vfog § »uet gwurst
grfemr -

(1) H&r (2)  wIgE

(3) BT (4) 3ES

J1ET YISt T 7AW e Jfemr -

(1) 1914 € (2) 1913¢h

(3) 1920 €. (4) 1929 &t.

19 < et @ W&o feest § fas aatf fee e
farry w3 faw 3 fearsat formg er oA At -

(1) 7, AgStatyr -yEtsne
(2) 6, AISIEPAT -uTERHE

(3) 5,3BIW :

(4) 6, JgmgEar
gnuﬁwguaarafﬁﬁme’rwﬁfwm
(1) Fanfeur @), vl

(3) SmEw 4).  Wtws

fe'sr Gers angteTet wigadt fand 379 fe's O
€ naet § S 95 B 32 feond fanre &3
m—

(1) =9 Jaféar (2) THRHNTS
(8) feshp dfex (4) T=EIC IFER

Afg%ar AaI6S (ATad) BT Hgd 591 &
(1) g - (2) FE3
(3) dUT (4 s

oHs 3 3T 3T | FewaSt Hes § faw 5t s
A qrer

(1) WBEg3Ie

(2) daE I TS

(3) ydHt eI AEE

(4) €3 Jezad es

439e8 € fonre 578 vy v fausT fagr &< d
(1) Bfowrar 2) sfésr

(3) JEOHYT (4) USEAT
fefas Teur ot 39 2 faod A9 fes yet et 3
(1) fegeens (F-HT AR 439

(2) <Yt ugT e H3T

(3) €CTHugTerdzg

(4) HIEBTUIT
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Ravi, Jhelum and Chenab are distributaries of which river

(1) Godavari (2) Ganga
(3) Yamuna (4) Sindhu

Which one of the following agents causes the formation of
V-shaped valley ?
(1) Snow (2) Wind
(3) River (4) Sea waves
Which type of soil is extensively found in Punjab
(1) Black Soil (2)  Alluvial Soil
(3) Red soil (4) Laterite soil
Which is the first express way of India ?
(1) Delhi-Calcutta (2) Mumbai -Pune
(3) Bengluru-Chennai (4)  Delhi- Mumbai

The food needs of any country are determined by?
(1) The size of population and its standard of living
(2) The geographical size of area

(3) The urbanized population

(4) The rural population

Tropic of Cancer passes through State
(1) Bihar 2) Uttar Pradesh
(3) Mizoram (4  Nagaland

The area with more concentration of Jute mills in India
are of

(1) Maharashtra (2) Gujrat

(3) West Bengal (4)  Uttar Pradesh
‘Which of the following countries does not have veto power
1) France 2) India

3) China 4) Russia

The principle of 'Judicial Review ' has been taken from
which country ?

1) United State of America 2) Germany
3) France 4) England
How many members are taken for the Lok Sabha and
Rajya Sabha from Punjab ?
1) Lok Sabha-11 2) Lok Sabha-13
Rajya Sabha-9 Rajya Sabha-7
3) Lok Sabha- 9 4) Lok Sabha-12
Rajya Sabha-7 Rajya Sabha-2

Who is included in the 'electoral college’ or electorate

for the election of our President

1) All the members of Lok Sabha

2) All the members of Rajya Sabha

3) Elected members of Lok Sabha, Rajya Sabha and
elected members from State Legislative Assemblies
and elelcted members from Union Territories.

4) All members of Lok Sabha, Rajya Sabha and State
Legislative Assemblies.

'Peaceful Co-existence ' is the part of which agreement?
1) Panchsheel

2) Simla Agreement

3) Tashkand Agreement

4) Nehru Layakat Agreement
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I, AIBH M3 S5 fan st Tt Horfed sEt I8

(1)  drer=dt (2) d@r
(3) s (4 fig

. 35 fafumit fe"F &= V-shaped wret &7 fsowe aaa 3 ?
(1) i:CH (2) gJ=r
(3) &<t (Sfonm) (4)  wyed sfaet
Ay f&°9 faw famr @t ifet famrer yret Atet 3 7
(1) IS (2) aEE S -
(3) wEiHe . (4) BeaEe A
3793 T AT F ufgs Express TEIR fauar 3 7
(1) fegt-asasr 2) yEE-yE
(3) Hamg-IsEt (4) fe=tpuet

fait @w St SwE Tt wgest fa?* fagufes atshat
Hidht g8 ¢

(1) #&Hferr @ Aete 3 fae Afas @ a9 3

(2) dIfgamua3

(3)  wfgdt 7w fAfnr S wpgrg 3

(4) UgIRHLSWUTS

9 YT faas oA @9 gaeat I 7

(1 fagw (2) €IyEn

3)  fimer (4) IEBF

fegt 4gqt i faud 439 fe'v yens st freras ?
(1) = WIewHST (2) I3

(3) veWgar® (4) €sTEw

35 fofipnt feF A2 mat far g as 5t T ?

1) I W@Ww 2) 993

3) = 4) Ll

fonrfea ysaadius e frgia faw 3 fenr fapr 3 7
1) A3 A MHdtar 2) HoHST
3) TIH 4) féagz

Uy f&9 8q Ag™ w3 T Ae™ Bel 48 Nae B¢ A
5|

1) BdAF™11 2) &q AI™13
IH AIT-9 THHI™-7

3) B AIT-9 4) BT AIT -12
IH AI™-7 IH AI-2

;mzaus?e‘t%zmse’t@zm fegde garder

?

1) SIAIT T AT HET

2)  JHHAITT AT HET

3) 39 AT, I AT 3 I et feus rgTet & g
3¢ Wug 3 3'odl AR Yot @ §S I Age yent

4) ;a:aw,mwéwwmw%n%

‘ grawel nfode ’ do fefimt fe far mig3 o fiaig §
1. s ey

2) favsT g3

3) IHIE AMEIT

4)  afag fenraz-mEsT
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India opposes strongly at International lever for which
issue ? '

1) United Nations 2) Foreign Companies

3) Common Weath Nations 4) Terrorism in all forms.

Which rights are not given to foreigners ?
1) Political Rights 2) Economic Rights
3) Social Rights 4) Economic Rights

The Chief Minister Generally belongs to -
1) Rajya Sabha

2) Lok Sabha

3) State Legislative Assembly

4) State Legislative Council

Right to 'Free and Complsory Education' was

implemented in all over India on ?
1) March 2009 2) April 2010
3) January 2002 4) February 2014

Which among th following is not a key feature of
Parliamentary form of Govt.

1) Close relationship between Legllslature and Executive
2) The Power of Judicial Review by Judiciary/ Courts

3) Real and Nominal Executive

4) Responsibility of Executive towards Legislature .

The extra ordinary increase in agriculture especially
in the production of wheat and rice is called.

1. Wheat Revolution 2. Paddy Revolution

3. Green Revolution ~ 4. White Revolution

The reward given to the entrepreneur for his factor
services is called:
1. Interest
3. Wages

2. Rent
4. Profit

When more than required labourers are employed in
any occupation , then these extra labourers is called
which type of unemplyed ?

1. Seasonal unemploed

2. Distiguished Unemployed

3. Industrial Unemployed

4. Under Unemployed

The Government policy related to its revenue and

expenditure is called:

1. Monetary Policy 2. Fiscal Policy

3. Price Policy 4. Industrial Policy
When was the New Industrial Policy launched in India?
1. 1948 2. 1956

3. 1991 4. 2001

In India ..ccooecesecnececsd percent of people are living below
poverty line

1. 219 2. 229

3. 239 4. 249

Under MNREGA Scheme of the Government how many
days of employment is provided to the labourers in India ?
1. 100 2. 120

3. 150 4. 200

Banking Services are included in which of the following
sectors of the economy ?
1. Primary Sector
3. Service Sector

2. Secondary Sector
4. Industrial Sector
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WII-THed Y9 3 9793 fan I® < ny3 feduar qeer

a7
1) A9a3 IHeT T 2) feomt quatnt &t
4) gafamHenigeedr |

3) IHSI 13T <t

feSur & fegst feF faud nifgara 59t feI a7
1)  FAsISa wfaae 2)  wafed wfaas
3) mrfaa wfagers 4) MBS Yt mifgarg

IR Y NSR fan a& My dyerd ¢
1) TARTT &S 2) B AST
3) Fwfewsrsr 4) T feus yme

‘We3 w3 Agdt fiferar o nifgas ’ 393 feg ae g
v fapr ?

1)  W992009 2)  wM® 2010

3) As=dt 2002 4) gd<dt 2014

35 fafunt feS* faoat feimaT imet yerat <t satd?
1) FeAuTsar 3 feasyfsar feg 33 e by

2) fenufear & fonrfea yasfadive &t mast

3)  wASt w3 & W39 aen uisar

4)  Fenusar &t feasufsar Yt fineat

U3 fE9 w39 3 qea »3 oTs f29 I T8 mauas

T § &t &t fe3 fapar ?

1. CCEEAE]] 2. s gt

3. gt gt 4, fed gist

gt § €n it A Rt @ weB At feanr fiiser 3 ¢
1. fems 2. S

3. Hagdt 4. g

e fan & iS5 83 3 U Hage § au 3 Sarfenr Afer

53+a'gw9a%ua§a*§'faaé ferar wrar 7

1. MMt 9gFare .

2.  gUJT ggHare

3. Sedfare §gHarg

4 WBY GgHaT

R € »HEs w3 Y99 At a1 § &t fagr Ater 3 ¢

1.  Wefaa st 2.  JHaH 1St

3. dmM3 ISt 4. Getfow sist

933 f&'T o<t Qedifoa 313t e gy a1t aret ¢

1. 1948 2. 1956

3. 1991, 4. :2001

393 fe9 f48 YSu3 8 gt dur @ 35t affe a5 7

1. 219 2. 229

3. 239 4. 249

393 FIAT © W GvaT 35 Haget § f4d fest e
JHINT TS FITTenT AreT 37

1. 100 2. 120
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Important [nstructions:

1) Use only black or blue ball pen for writing/marking.

STATE LEVEL NATIONAL TALENT SEARCH EXAMINATION (NTSE)-2019

CLASS X (Answer Sheet)
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2) Darken the complete circle as shown :

3) Write Roll Number in the boxes
and also fill corresponding circle.

4) Out of Eleven digit Roll Number the Four
digits are already filled and remaining
Seven digit are to be filled by student.

1 5)Each question carries one mark.
i
H 5) Use of white correction fluid is not allowed
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If your Roll Number is 29180215167
then darken the circles as follows:
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